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import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/US_crime.csV'
crime=pd.read_csv(url,encoding="ms949")

crime.columns

Index(['F0|&", "=AIO|E, QI+, "BHAA, ‘Aol 'zt g, '
L MAMHE], F=AHEY

', RHEE],

dtype='object")

crime.info()

<class 'pandas.core.frame.DataFrame'>
Rangelndex: 9292 entries, 0 to 9291
Data columns (total 12 columns):

non-null Z&X| 8IS

ZF0|2 9292 non-null object - object : TAIE B4
ZAI0|E 9292 non-null object . int: RABAl

o174 9289 non-null float64

Z2AI4 9288 non-null float64 s float : &4 A

Al 9292 non-null int64

Z7Zt 5431 non-null float64
ZE 9292 non-null int64

Z3& 9289 non-null float64
THAHHZE| 9288 non-null float64
ZF7EY 9290 non-null float64
A 9290 non-null float64
AEE 9292 non-null int64

DI I A ) W s~ AL LI s £ AN

crime.head(3)

FO|IE EAOIE

re
-
41>
d

]

0 ALABAMA  Abbevile 26450 110 1 1.0 2 7.0 63.0
1 ALABAMA Adamsville 4481.0 190 1 0.0 7 11.0 321.0

2 ALABAMA Addison 7440 10 O 10 O 0.0 25.0

7| =8HE #517|

M| HIo|E : DF.dropna().describe()[[Sd Hi1), ‘5™ B2,

=

- dropna() : Z5X| M2lstn SAHZ Alrt, ZEX] SiCHH H|Qlsh e &

» describe() 2t AF2351H H0|E] L RE SXS 4 Znt o= SHEIrt

pd.options.display.float_format = '{:.2f}".format
crime.dropna().describe()[[Z =", 2 x"1]

zE HE

count 5425.00 5425.00
mean 20.13 369.23

std 182.00 1399.42



JEH4 0|8 DF.groupby('21EH1", '1EH2").describe()[['HH1",

crime.groupby(['F=0|£']).describe()[[Z %', ' H L]

ZE
count mean std min 25%
FO0|E
ALABAMA 196.00 18.24 83.37 0.00 0.00
ALASKA 27.00 22.19 100.17 0.00 0.00
ARIZONA 63.00 97.33 427.08 0.00 1.00
ARKANSAS 154.00 12.29 77.44 0.00 0.00

- 2re 240 At8St7| 215101 ZuHE HIO0|E =) ‘crime_des’ O|E2 = MF

crime_des=crime.groupby(['F0|Z"]).describe()[[Z=’, =]
crime_des.head(3)

crime_des[["H31", "'HEH2!, L]
crime_des['Z="]
count mean std min 25% 50% 75%
FO|E
ALABAMA 196.00 18.24 83.37 0.00 0.00 1.00 8.00
ALASKA 27.00 22.19 100.17 0.00 0.00 1.00 2.00
ARIZONA 63.00 97.33 427.08 0.00 1.00 5.00 19.50

DF.loc[;, (slice(None), ['0I1£1','0|22", ...])]

2= HE
count mean std min 25% 50% 75% max count mean
Fo|E
ALABAMA 196.00 18.24 83.37 0.00 0.00 1.00 8.00 969.00 196.00 393.20
ALASKA 27.00 22.19 100.17 0.00 0.00 1.00 2.00 522.00 27.00 539.89
ARIZONA 63.00 97.33 427.08 0.00 1.00 5.00 19.50 3233.00 63.00 2063.16

crime_des.loc[:, (slice(None), ['mean’,'std'])]

pa L3
mean std mean std
FO|E
ALABAMA 18.24 83.37 393.20 1076.53
ALASKA 2219 100.17 539.89 1877.36
ARIZONA 97.33 427.08 2063.16 5917.16



GROUPBY 7|=8AE +5}7|

« SAZH) 7ol SEH MERHHE 0| W 2= SEY H SAE

=F . count, mean, median, min, max, mode, mad(mean absolute
value), abs, prod, std, avr, quantile(0.9)

« 5= ol QIEIA AL EICE

crime_m=crime.groupby('Z0|Z").mean([[Z =, & "]
crime_m.head(3)

3 Hx

ALABAMA 18.244898 393.198980
ALASKA 22.185185 539.888889
ARIZONA 97.333333 2063.158730

DF.groupby(IE%1, IS ) EAZO[ESHHL1, 'SHHAD!

O w4 SiLiE BIS7| (2174 B X|ofnt He X|of, BRT|F)

import numpy as np
crime[' Q1524 1&]=np.where(crime['2!

4>

"I>crime['21714="].mean(), 0| &F",'0|2F)

crime['1724=1Z".value_counts()

o|gt 7463
O|4 1829
Name: Q17241 &, dtype: int64

crime_m2=crime.groupby(['F0|&",'2l7*+1
crime_m2.head(3)

Hn

T.mean([[Zx', ' E L]

s =1
F0lg 97408
ALABAMA ojgat 3.78 156.24

oj&F 121.92 2091.42
ALASKA ook 1.04 114.83



QOor=EJ|2F gt 3) 0|5, 21705 KA S8 (A Feim sff Q1= A)
1) B, EEEX QASAHEYS siLte| HIo|H == BH=C DF.loc[(slice(None), slice('SSHm| SQUCA =) ]
3k L3 3k g2k crime_des.loc[(slice(None), slice('0|2})), :]
FO|g IP40E
ALABAMA ojgt 3.78 156.24 7.45 200.54 Zx EHE Zx  HE
Ol  121.92 2091.42 213.86 2469.29 FoOIg I8
ALASKA o|gt 1.04  114.83 1.49 115.30 ALABAMA ojgt 3.78 156.24 7.45 200.54
ALASKA oot 1.04 114.83 1.49 115.30
2 ook 3.49 190. 7.02 173.22
2) 0|2, QITH0E XHH| HBYH (KM o olei) ARIZONA DI 349 190.08  7.02 178
DF.loc[[X & HZ=1' Mz | 1] 4) 8 OIHIAZ O A (QIEIAR OIS 7))
crime_des=pd.concat([crime_m,crime_sd],axis=1) DF.reset_index(level=[2QIE AT 1" SiOIE A DY)
crime_des.loc[['ALASKA','ALABAMA'],:] crime_des.reset_index(level=['Z=0| =" QI A 1 2])
3= B FE  EE Fo|g o418 s =TT -1~
FO|I§ o 1E 0 ALABAMA ojot 3.78  156.24 7.45 200.54
ALABAMA ojgt 378 156.24  7.45 200.54 1 ALABAMA Ol4 121.92 2091.42 213.86 2469.29
0]4F 121.92 2091.42 213.86 2469.29 2 ALASKA oot 1.04  114.83 1.49 115.30
ALASKA ojaF  1.04 114.83 149 115.30
0]4F 191.33 3940.33 286.58 5113.97



LIFAXE 32! box whisker plot

Jefz ok (YEIT) : S| AER histogram

« ZZ=X| HAH3tD Q17 1000HE M

R
P

HlAE - Series X&
« 100 O|2t0| H|O|E{Tt MZt

count 5400.00

mean  17.52

. : std 13.94
crimeO=crime.dropna() min 0.00
x=crimeO[ 2% 1/crime0[@1 71411000 2% 758
x=x[x<100] 75%  23.80
x.describe() max  99.66

dtype: float64

import seaborn as sns; import matplotlib.pyplot as plt
from scipy import stats; sns.distplot(x, fit=stats.norm); plt.show()
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sns.boxplot(x)
plt.show()
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sns.swarmplot(x)
plt.show()
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20} : 2FIE 0|4 (LR AR} T2))

=H™AUA| 10Xt2| =Xt int @Al -> date timedA! OHS7|

Of| | HIO|E] 2018 4=7| O|AM|TX]| Cf| O

http://203.247.53.31/Stat_Notes/example data/mise/2018Q4.csv

import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/mise/2018Q4.csV'
0| M|=pd.read_csv(url)

0|M|.head(3)

ZxyA3  £FA ]
xey o SoFE 8L xmo s02 co 03 N
— =]
A = A
0 1%.3 = l?: 111121 =+ 2018100101 0.00 0.30 0.04 O.

M2 S A
1 1§§ =l 111121 S+ 2018100102 0.00 0.30 0.04 O.

71

X|of 4 H|O|E] 2O R 272 Lis, A M= [0], FHM= [1]

- astype(str) : TAH - ZAELE Het
- str.slice(start=, stop=, step=) : A 0| L& R=7|

(O|MI[EX L A|"].astype(str)).str.slice(0,8)

l

0 20181001
1 20181001

- pd.to_datetime() : 8XI2| 2XI2 Lt HAloZ Hs

pd.to_datetime((O|M|['S & L A|'].astype(str)).str.slice(0,8))

0 2018-10-01

1 2018-10-01

2 2018-10-01
O|MI['SE 2" ]=pd.to_datetime((O|M|['S & L Al ].astype(str)).str.slice(0,8))
O|AMl.info()

A= 849878 non-null object
=82 849878 non-null datetime64[ns]

O|MI['X|24 ].str.split(" *, n=1, expand=True)

O|MI['A| = 1=0|M|['X|24"].str.split( ', n=1, expand=True)[0]

5CH 2A| H|0|E{ subset

I OMI=0IMI[@IMICAI=T=="MZ") | (OIMI[Al=T=="CHE) |
2 (OIMICAI=T=="8F) | (OIMICAI=T=="CH7) | (OIMIC A= ]=="241)]

0| M|['A| = "].value_counts()

ME 87576
HAH 52992
CH 33120
CH® 24080
2= 19872


http://203.247.53.31/Stat_Notes/example_data/mise/2018Q4.csv
http://203.247.53.31/Stat_Notes/example_data/mise/2018Q4.csv

YOIA| T4 X7, 2 CiEZH(max) XIS 50 1Al PM10, PM25 A S S

OJMHX|= XS, AlZHE Z[Cigfo] CHEgie = K&t ZHYo 2% (dt.weekday 0=EQY, 2=3t2%, .. 6= ) H|0|Ef 2t

O] Mlsubset=0|Al.groupby(['A| =", SE L DI'PM10°,PM25'].max() O|Msubset['2 2']=0|M|subset[' 53 & '].dt.weekday
0| Mlsubset.head(3)

plt.rcParams["“figure.figsize"] = (14,10) #set size of Graph

PM10 PM25 plt.subplots_adjust(hspace = 0.5, wspace = 0.3)
=xi0 plt.subplot(2,1,1)
HE =ed ax = sns.boxplot(x="A|=", y="PM10", hue="Q&!",

data=0|M|subset, order=['A|Z", 'THH", "§4F, &=, 'TH7'])
plt.axhline(151, Is="--', c="Red’, lw=1); plt.axhline(81, Is="--")
2018-10-02 67.00 61.00 plt.ylim(0,200)
plt.title('5CH ZAHA|-QE O|H|HX|(PM10)")
ax.legend(bbox_to_anchor=(1.1,1.05))
plt.subplot(2,1,2)
ax = sns.boxplot(x="A|E=", y="PM25", hue="Q %",

== 2018-10-01 62.00 18.00

2018-10-03 49.00 41.00

data=0|M|subset, order=['AZ", 'THHE", "EAF, "2 THH])

3 2=~ E a2 Hakol| pit.axhline(76, Is="--', c="Red’, Iw=1); plt.axhline(36, Is="-)
plt.ylim(0,150)
0| M|subset.reset_index(inplace=True) plt.title('5CH ZAHA|-Q U Z0O|M|HX|(PM25)")
0| M|subset.head(3) ax.legend(bbox_to_anchor=(1.1,1.05))
plt.show()
Ax £3¥HY PM10 PM25

0 &+ 2018-10-01 62.00 18.00
1 &3+ 2018-10-02 67.00 61.00

2 &+ 2018-10-03 49.00 41.00
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plt.rcParams|["figure.figsize"] = (14,10) #set size of Graph
plt.subplots_adjust(hspace = 0.5, wspace = 0.3)
plt.subplot(2,1,1)
ax = sns.boxplot(x="A|E=", y="PM10", hue="2¥",

data=0[AM|subset, order=['AME', 'CHH', ‘48, &3, "TH)
plt.axhline(151, Is="--', c='"Red’, lw=1); plt.axhline(81, Is="--")
plt.ylim(0,200)
plt.title('5CH ZHA-QAUEH O|HHX|(PM10)')
ax.legend(bbox_to_anchor=(1.1,1.05))
plt.subplot(2,1,2)
ax = sns.boxplot(x="A|E", y="PM25", hue="2¥",

data=0[AM|subset, order=['AME', 'CHH', ‘48, & "THH)
plt.axhline(76, Is="'--', c="Red’, lw=1); plt.axhline(36, Is="--")
plt.ylim(0,150)
plt.title('5CH ZHA|-QUH Z0|HHX|(PM25)")
ax.legend(bbox_to_anchor=(1.1,1.05))
plt.show()
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import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/US_crime.csv'
crime=pd.read_csv(url,encoding='ms949")

crime.columns

Index(['F0|&", "=AIO|E", QI3 "EHAZ, ‘Aol 'ZdzF, 4, '
LR AR, FAEY

HE REEE,

dtype='object’)
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2 1) AR4Y 08 - 294

import matplotlib.pyplot as plt
import seaborn as sns

sns.boxplot(crime[ Z M= =24 A

plt title(‘QI LM HE ZAAIZ A% AXIIE))

plt.show()

HHO il = oS A Ol
OI T "'é-c-)l-ol'xl o= T NL::

0 100 200

300 400 500 600
HEoEuuS

Ol x| Z4

Olxl= X|2E 22X ol 2 =(FHe2 &4 & O|dX| 2XE aliZ) O|&X7F &
Mot 1 siZEsH T E|Lf, = N[0 = SEOf| 7H2 Ol&X(7F £XH, 0|E H|
7stal x| &S sliZst= 20| HEsiT.

« SEFO|YX| 370 A

=l Tor A o] —
. 5 E2{7i4T} ol

crime2=crime[(crime[ M= A

LLO O™

 E2 A 3

EAlE Hel(ZA tidollM)

crime2.loc[:,['F0|2''=A|0|E", "‘d%‘i SHEZ&H714"]].head(3)
FO0|E TAO|E JMYLEZL

0 ALABAMA Abbeville 4.158790

1 ALABAMA Adamsville 4.240125

2 ALABAMA Addison 1.344086
sns.boxplot(crime2[ FHEH=Z2 744")
plt.title( QP HE Z2HAIZ 24 AXIOE(SE O|AX| 37 H|H& 714>0)")
plt.show()

SIPHHT EAIH A4 AX I (Sch o]akx] 37H HA& 2144)0)
(1X,  IX1] [ BN BN N [ ]
0 10 20 30 40 50 60 70

e EuEs

o Al &= 240 = H <

£'1<100) & (crime[ MY ZH 71




=M 2) X|ILH G2 - Yrd 24T R S (ERA)
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%
95%EB%AA%A8%ED%98%95 LM%20%EC%A0%84%EC%B2%9

3) D'Agostino's K-squared test

https://en.wikipedia.org/wiki/D%27Agostino%27s K-squared test

8°/oEB°/oA6°/oAC.Ddf

HAEAE 3 U DF Q0|aF 1%0M Y AR 7|12t

o

1) Shapiro Wilk W-S7|&
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import scipy.stats as stats #& 74 && : Shapiro-Wilks
st, p = stats.shapiro(crime2[ F HTH=Z2 714")
print(SH2f=",st, R 2|&E="p)

S &= 0.6386462450027466 F2|2== 0.0

2) Anderson-Darling AD E7|Zf

#=n [ (R -FOPFE1-FX)dF)

— 0

import scipy.stats as stats #Z& 74 Z& : Anderson Darling
stats.anderson(crime2[ M HE =24 744")

AndersonResult(statistic=627.6875489169561, critical_values=array
significance_level=array([15.,10., 5., 25, 1. 1)

import scipy.stats as stats #D’Agostino, R. and Pearson, E. S. (1973)
st, p = stats.normaltest(crime2[ I HEHEZ2{714")

print( SA|2='",st, F|==E="p)

S7|g= 8877.249819208031 f2|&tE= 0.0

& 32 - M4 7K0l Z[ZEI9im AXTRS BY 98 XA -

@ =0

Imd #optimal lambda

0.07049399339914822
f Y?, left
Y?, mild left
Y'=| Y, mild right
In(Y), right
1/Y, severe right

Power Transformation \


http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
http://203.247.53.31/2019spring/LM2019/%EC%84%A0%ED%98%95%EB%AA%A8%ED%98%95_LM%20%EC%A0%84%EC%B2%98%EB%A6%AC.pdf
https://en.wikipedia.org/wiki/D%27Agostino%27s_K-squared_test
https://en.wikipedia.org/wiki/D%27Agostino%27s_K-squared_test

sns.boxplot(xt) #box-cox normal transformation
plt.title( QXYY ZHAI Z1~(Box-Cox B H et ) oK)
plt.show()

APHEY ZAtH 25 (Box-CoxH S ¥) 4X2¥

.

import numpy as np
xt1=np.log(crime2[' M =21 714)

sns.boxplot(xtl) #box-cox normal transformation
pit.title( QI PHPE Z2AAZ AR IWE 3) YR
plt.show()

e e

ox-Box 1 = 0.07 s SQAlsl HQICtH oA HSsIAS
Hi30| D2 SAFSH A2 =} Ay} SALSICHE 22 5

= e

¥
#Heto| O[5t

Z|E ClOo|H - (Xt =188t = Of&fX| XA

ql=xt1.quantile(0.25); g3=xt1.quantile(0.75)
Ib=q1-1.5*(g3-q1); ub=q3+1.5*(q3-q1) #O[&fX/ ZIEF imaginary line

xt1=xt1[(xt1>Ib) & (xt1<ub)] #O/Alx| A7

sns.boxplot(xtl) #box-cox normal transformation
plt.title(QUAHHL ZHAAH HL(ZOHE T O|AX[H|7H) HXtE)

plt.show()

AR (2088 F 0l¢xIHAH) 4Xa

gl

AIPHHG

£
0

on

JH

I

n{ —a

S

67



x_
s/A\/n

xt1.describe()

count 8174.000000

mean 0.621430

std 0.998987

min -2.166536

25% -0.054463

50% 0.642692

75% 1.346651

max 3.445314

Name: MHEZ247 S dtype: float64

5 S < S
Al_lgl__rl'jl_l- (x BT t(%,l’l—l)_’ X + t(%,n—l)_)

Vi Vi

95% 12|77t (0.263, 13.193) <- AIPI2 T k5|0 a2 exp #Ht L

oSt

ook

stats.t.interval(0.95, xt1.count()-1, loc=xt1.mean(), scale=xt1.std()) #95% C./

(-1.3368378407219295, 2.5796986812931704)

import numpy as np
print('5t8t=",np.exp(-1.3368378407219295), At5t="np.exp(2.5796986812931704))

5t5t= 0.26267497680195523 &5t=13.193162214097708

ZhA ol MOt Za AL~ WA 1 9HO|QULCH (X121 Heto|2 2
In(1.9) = 0.6418538861723947) =olf AHELE ZH ATt ZO{CHD & 4= QUL?
HE7HE  u = 0.6418538861723947, CHEIZFA : 4 < 0.6418538861723947

stats.ttest_1samp(xt1,np.log(1.9)) #two-sided

Ttest_1sampResult(statistic=-1.8483618134258697, pvalue=0.0645861181323626)

YSHE S 2Ist R=HE0| 0.0650|22 HHEHE 2 0.033 -> HR7H 7|12, O

np.exp(xtl.mean())



import pandas as pd
url="http://wolfpack.hnu.ac.kr/Stat Notes/example data/US crime.csv'
crime=pd.read_csv(url,encoding='ms949")

crime.columns

crime[ MY 2= =crime[ Z2{AI')/crime(' 217411000
#2151 1000T e Z2i7i4

import matplotlib.pyplot as plt

import seaborn as sns
sns.boxplot(crime[ M HEZ&H44"))
plt.title(' QI FHHE ZHAA 4~ XT8N
plt.show()

crime2=crime[(crime[' Y Z2H71"1<100) & (crime[' B H=ZH71+"1>0)]
crime2.loc[:,['30|&','AHY == 14"]).head(3)

crime2[' Y= 71", describe()

sns.boxplot(crime2[ MY ZSH41)
it title( 21 PHBE I 24 AXID2I(SE 0[AkR| 370 HI7& 244>0))
plt.show()

import scipy.stats as stats #8+d A& : Shapiro-Wilks
st, p = stats.shapiro(crime2[' & D#gge_4|7|_4¢-])
print( SAZ="st, R2I&E="p)

import scipy.stats as stats #&8+4 44 : Anderson Darling
stats.anderson(crime2[ M HZHZ2H 1)

import scipy.stats as stats #D’Agostino, R. and Pearson, E. S. (1973)
st, p = stats.normaltest(crime2[' M EEHZ2714")
print( SAZ="st,'F2I2HE="p)

xt, Imd = stats.boxcox(crime2[' B Z& 1)) #box cox transformation
Imd #optimal lambda

sns.boxplot(xt) box—cox normal transformation

plt.title(' QUL BE ZHAH 24 (Box-Coxd et =) AXtOE!

plt.show()

import numpy as np
xt1=np.log(crime2[ M HEZ714")

sns.boxplot(xt1) #box-cox normal transformation
plt.title('RIFHHEE ZSAH A2 Het =) X))
plt.show()

g1=xt1.quantile(0.25); g3=xt1.quantile(0.75)
lb=q1-1.5%(q3-a1); ub=03+1.5%(q3-q1) #O|&X| TIEk imaginary line

xt1=xt1[(xt1>Ib) & (xt1<ub)] #O|AX| X7

sns.boxplot(xt1) #box-cox normal transformation
plt.title('QIFHHEE ZSAA Hpx(E0Het = O|&X|HAH) AAt3E)
plt.show()

xt1.describe()

stats.t.interval(0.95, xt1.count()-1, loc=xt1.mean(), scale=xt1.std())
#95% C.I

import numpy as np
print('3t8t=",np.exp(-1.3368378407219295), At
=',np.exp(2.5796986812931704))
stats.ttest_1samp(xt1,np.log(1.9)) #two-sided

np.exp(xt1.mean()
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Inference p = ~B(n,p)'
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import pandas as pd
url="http://wolfpack.hnu.ac.kr/2015_Fall/D4BE/cereal.csv'
cereal=pd.read_csv(url)

cereal.head(3)

Group Spend

0 1 1477

HH|lE =8

AHE O

EH
ML

=3

2|2 min(npy, n(1 — py)) > 5 - cHEE

AHE0 AL ZX (num)of1's ~ B(n, p,) 0|83t0{ 7td H4H




AF7HE MY JMHE H,  p=035,H, :p>035

A CIO|E 2 2H(2H)E 24 11245t0] OFg! Al2[¥ S MESICH= 1124 H|=Z0| F2=HE 0.003/22 Of A3 - HF7HE0] 7|20 23l CIO|0E 112 A2
35%0|ALC}. Sl =&iet HIO|HZRE CIO|HE St M 112{5H0] A[2|H el ng 38.7%= &H0| |5l Re|MZ SIISIICID Z= LiE,
ot H|20| gt 95% 42| 722tS 5. T2 2HE0| H s 76X |22

%M ARSI, from statsmodels.stats.proportion import proportions_ztest

stat, pval = proportions_ztest(count,nobs,h0)
count=cereal[cereal['Group']==2].shape[0]

nobs=cereal.shape[0] print("A™EEAZ : % .2f, R2|EE : % .3f" %(stat, pval/2))
print(count,’:',nobs)

h0=0.35 HAEEAZ: 270, R9J&E : 0.003

484 : 1250 import pandas as pd

N=1,250 / x=tof (2)=484 url="http://wolipack.nnu.ac.ki/2015 Fall/DABE/cereal.csv!

cereal=pd.read_csv(url)

DH|E F3

g cereal['Group'].value_counts()/cereal.shape[0]
- 2ol A|2|Y B4 12ARO| CHO|E HI&E 38.7%
phat=cereal[cereal['Group']|==2].shape[0]/cereal.shape|0]
phat=cereal[cereal['Group']==2].shape[0]/cereal.shape[0]

phat count=cereal[cereal[' Group']==2].shape[0]
nobs=cereal.shape|0]
0.3872 print(count,":',nobs, 'phat="',phat); h0=0.35
95% A2 72t HAt : @HIg p mport numpy as np

from statsmodels.stats.proportion import proportion_confint
Ib,ub=proportion_confint(count, nobs, alpha=0.05, method="normal’)

* (36%, 41.4%) : 95% LIO|E 112f A[2[H MEHH|E Ll=|F17t

_ print("stst : {:.2%}, &St : {:.2%]}".format(lb,ub))
import numpy as np

from statsquels.stats.proportion import proportion_confinlt . from statsmodels.stats.proportion import proportions_ztest
Ib,ub=proportion_confint(count, nobs, alpha=0.05, method="normal’) stat, pval = proportions_ztest(count,nobs,h0)
print("él»@- : {2%}’ é)l‘él‘ : {:.2%}"_f0rmat(|b’ub)) pr|nt(ll7_|I_|E7:||EF % 2f |§'—| % . f" %(Stat, pva|/2))

Stet

ot

1 36.02%, &f8t : 41.42%
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(Welch — Satterthwaite’s) : O|

Of| | CilO]E

(R —X) = (1 = ) n, ',
- (X, - X3) - (1, - Hp)Hy df = 1 ¢
= 212 2
GG l(il.)+l i
s&ttt(n +n,—2)

(= 1)s? + (n, — 1)s3

n,+n,; —2

import pandas as pd
url="http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/US_crime.csVv'
crime=pd.read_csv(url,encoding="ms949’)

crime.columns

Index(['F0|8', "=A[O|', 'R, "FHAZY, ‘Aol Z7l, ', =&, THAHE[, 'FAHRY',
e, RFEE,
dtype='object’)

crime[ MYHYEZHH"=crime['Z&AZ1')/crime['Q1724"T*1000 #2/2 1000F 5! Z&i71+

crime2=crime[(crime['?’_ﬁjF'=1 g%§a¢']<100) & (crime[ MHEZEE714"]>0)]

crime3=crime2[(crime2['$0|&]=="MASSACHUSETTS’) |

(crime2['F0|&']=="NORTH CAROLINA"]
crime3s=crime3[['F0|&', MHFZHZ1LT]
crime3s.head(3)

FOIE MELIFHU+

3136 MASSACHUSETTS 2.977483
3137 MASSACHUSETTS 0.349788
3138 MASSACHUSETTS 1.833623



M1 A2 Tl

043 X1 - Lest

import matplotlib.pyplot as plt
import seaborn as sns
sns.boxplot(y=crime3[ M HE=
plt.title( QUL HHT ZHAIH 7d
plt.show()

274" x=crime3['F0|&"])
(FE) 4R

HArH A

IR HY g

Jlrl

+(Fg) 4oy

17.5 1
15.0 1

12.5 1 &
e
mr 10.0 4
Hr

=l

5.0 1

2.5 1

0.0 -

B

;

MASSACHUSETTS

NORTH CAROLINA

ma, nc - Pandas Series H|0|E{ Bt=11 22} O|AHK| H|7H
ma=crime3[crime3['F0|£']=

='MASSACHUSETTS [ MYt =2
nc=crime3[crime3['F0|&']== [

AL
co= T
'NORTH CAROLINA']['HMHEt =274

—

ma_gl=ma.quantile(0.25);ma_q3=ma.quantile(0.75)
ma0=ma[(ma>ma_qg1-1.5*(ma_g3-ma_q1)) & (ma<ma_q3+1.5*(ma_g3-ma_ql))]
nc_ql=nc.quantile(0.25);nc_g3=nc.quantile(0.75)
ncO=nc[(nc>nc_q1-1.5*(nc_g3-nc_ql)) & (nc<nc_q3+1.5*(nc_q3-nc_ql))]

=M 2: 5 Byt SEL EE 1 Hy: of = 05 : Levene W

S&otEz 20| X|RES sliEs

104

Levene, H. (1960). In Contributions to Probability and Statistics: Essays
in Honor of Harold Hotelling, I. Olkin et al. eds., Stanford University
Press, pp. 278-292.

. ROIEHE0| OIR o} RIS 7|2 -> SEM I1F B

stats.levene(ma,nc)

LeveneResult(statistic=22.77357015899783, pvalue=2.4399490866987887e-06)



M 3: 5 R X0l

H>
sl
rhu

. o2 Ate] ZAHEAY 7.18, RIS 00l 7II2EE F2140] 7|2tE 1

NC=4.2971, MA=2.3671EC} Ke|XMo = AL}
stats.ttest_ind(ma,nc, equal_var = False)

Ttest_indResult(statistic=-7.184715248021864, pvalue=4.31592392630537e-12)

print(MA(m,sd)=",ma.mean(), ma.std(),\n’,
'‘NC(m,sd)=",nc.mean(), nc.std())

MA(m,sd)= 2.3607692188506437 2.3015769368996595
NC(m,sd)= 4.287963581180141 3.229275380557057

import pandas as pd
url="http://wolfpack.hnu.ac.kr/Stat_Notes/example_data/US_crime.csV'
crime=pd.read_csv(url,encoding='"ms949")

import scipy.stats as stats

crime[ HEZFH 4" |=crime[' ZZ At )/crime[' 21 #4='T10
ma=crime[crime['F0|&']=="MASSACHUSETTS']['&H *5. 7._—"\—']
nc=crime[crime['F&0|&']=='"NORTH CAF%OLINA]['7_5_4':I CIEEH A

ma_g1=ma.quantile(0.25);ma_g3=ma.quantile(0.75)
maO=ma[(ma>ma_q1-1.5*(ma_g3-ma_qg1)) &
(ma<ma_g3+1.5*(ma_g3-ma_qg1))]
nc_g1=nc.quantile(0.25);nc_qg3=nc.quantile(0.75)
ncO=nc[(nc>nc_q1-1.5%(nc_a3-nc_qg1)) & (nc<nc_g3+1.5*(nc_ag3-nc_q))]

stats.levene(ma,nc)
stats.ttest_ind(ma,nc, equal_var = False)

print('MA(m,sd)=",ma.mean(), ma.std(),"\n",
'‘NC(m,sd)=",nc.mean(), nc.std())




stats.ttest_rel(mbal['Finance'],mba['Marketing'])

Find the differences,
then find the mean
and standard deviation

X

A)

2. d;

xHo|of| CHSH YtH2F == 0} =5t N

—_

Of| x| CilO]E]

http://wolfpack.hnu.ac.kr/Stat Notes/elem stat/Stat methods/mba2.csv

MBA T& T, OIS G188 ZAISH At=0|CE X (GPA)0 WHE Xt0[7t /IS

FE510] ASS ZAGIALE 7elE 5%0M METS, OHAHE

#two paired two population means

import pandas as pd
url="http://wolfpack.hnu.ac.kr/Stat_Notes/elem_stat/Stat_methods/mba2.csv'
mba=pd.read_csv(url)

mba.head(3)

Group Finance Marketing

0 1 95171 89329

L n oonNnNna aN7NR

from scipy import stats
stats.ttest_rel(mba['Finance'], mba['Marketing'])

Ttest_relResult(statistic=3.80968841351656, pvalue=0.0008510¢

mbal[['Finance’,'Marketing']].describe()

Finance Marketing

count 25.000000 25.000000
mean 65438.200000 60373.680000
std 21094.591949 21666.605287

M2 6.548t= > OAEl 6.032H= : f2|&t

£ 0.001EC} ooz 2I|Ao| 7|
ZtE|O] 7R MSXE7F O M SXtof| HsH =

=0| =Lt


http://wolfpack.hnu.ac.kr/Stat_Notes/elem_stat/Stat_methods/mba2.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/elem_stat/Stat_methods/mba2.csv

#two paired two population means

import pandas as pd

url="http://wolfpack.hnu.ac.kr/Stat Notes/elem stat/Stat methods/mba
2.CsV'

mba=pd.read_csv(url)

mba.head(3)

from scipy import stats
stats.ttest_rel(mba['Finance'],mba['Marketing'])

mbal['Finance','Marketing']].describe)
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FREC Mz S
SEIE 7Hx[of| 25 2tF5l= 242 O|XI binary
X~B(p) (0=Almf| 1=M2)

Bernoulli H|250| 23

Bemoulli Distnbution for p = 0.4

EESHE (id) = M2 SE0|1 SURHEN ==
x,~B(p,) Y~ B(p,)

x=0x=Lx,=1..,x,=0 - »y=Ly,=1y,=0,...,y,

_ #of1l's_sample2

#of1's_samplel

A

SEHR| (MVUD): p, = Py =

n m

NEEE

. . P =p)  p,(1=py)
(Pl—Pz)'—"Zl-alle . e 2

m

-0 P —p-0 ~N(O,1), . #ofUs_S1+#of1's_S2
@) (B =p))Un + 1m) P= n+m

TS =

Of| | CilOlE]

M|O| Aot B110|0] S Ao 2 2150 01y 0| S7FSIRALtL FFBICE 0|
LOLE 7| 2|5104 CNN/ USAQ| Ctg ZAE SIQICH 1995 1008E 0id &
4130| EHO|E}‘I CHERI, 2 Z230| U2 1998 H0|= 1082 0{ & 681H0|
UO[2t1 EfSIRILE. 0|Z 0|&5t04 =&0of| Chsh EotAl<2.

import numpy as np

from statsmodels.stats.proportion import proportions_ztest
count = np.array([413,681]); nobs = np.array([1008,1082])
proportions_ztest(count, nobs)

(-10.047201272460136, 9.451353157591624e-24)

phat=sum(count)/sum(nobs)
phatl=count[0]/nobs[0]; phat2=count[1]/nobs[1]
print(S&HH|8= %.2f, 19953 H|2= %.2f, 1998'd H|2= %.2f %(phat,phat1,phat2))

SgHH|2= 0.52, 1995 H|g= 0.41, 19984 H|E2= 0.63

F2ISHE <0.001 -> HF7H 7|2f, 1998 04 H|20| 63% 22 1995
41%5& ol 71, SHEH0| o8 i REY =27t IS



#two independent two population means

import numpy as np

from statsmodels.stats.proportion import proportions_ztest
count = np.array([413,681]); nobs = np.array([1008,1082))
proportions_ztest(count, nobs)

phat=sum(count)/sum(nobs)

phat1=count[0]/nobs|0]; phat2=count[1]/nobs[1]
print('S&HIE= %.2f, 1995 H|E= %.2f, 1998 H|E= %.2f'
%(phat,phat1,phat2))




e McNemar 2%

Solst N Z2R2E O|FIY(ME, Anl) HEE M2 CHE 7[ZH(before - after)0l| &
Hoto] T2 Supvt Q=X YOotE = 210|C} Bland (2000) 13198 O{El
0l, 12“01| =Ziof| 42 7fi’é§9 LIO|7} 144k0] &|H =0X|= X| HOFXK|=X] &

Severe colds at age 14

Severe colds
Total
atage 12 Yes No
Yes 212 A 144 B 356
No 256 C 707 D 963
Total 468 851 1319

HFEX[(MVUE): p, = (356/1319) = 0.354,p,, = 144/1319 = 0.27

(B-C)

~ asymtoticy*(1
B1C y x (1)

HESH TS =

Jlon

IE S5)

HER2ME 1 Hy: p =p, (128 SZ 22 52 144 ST 22

29|8E<0.0010|22 HFIH 7|2, 124 S 12 B1F 35.4%, 144t
27%2 Liofzl - 12250f S2f0] Z2lo 14~on ChA| 242 81=0] LHOE!

# Example of calculating the mcnemar test

from statsmodels.stats.contingency_tables import mcnemar

table = [[212, 144],[256, 7071]

# calculate mcnemar test

result = mcnemar(table, exact=True)

# summarize the finding

print(‘statistic=%.3f, p-value=%.3f" % (result.statistic, result.pvalue))

statistic=144.000, p-value=0.000

# Example of calculating the mcnemar test

from statsmodels.stats.contingency_tables import mcnemar

table = [[212, 144],[256, 707]]

# calculate mcnemar test

result = mcnemar(table, exact=True)

# summarize the finding

print(‘statistic=%.3f, p-value=%.3f"' % (result.statistic, result.pvalue))



